: e ==> R6
6 11 F<F >ABERFHLETRE == 6
#1: 7 TW Open(70.82) #:2TW M1xed(67 37 #3: 6 [J_I(66 66)
1 NS: #7% H¥RfaEI0) -39 7 NS: 2818 BRIZEF(BAC) -21 VP:| 5.72 : 14.28| Total VP: 44.04 Rank:
EW: $8{—5¢ P& EAC) 27 EW: 17K EHBE(BO) 3 IMP:| 22 35 9
—
# 11 #» AKT864 2SN-1 -50 Mean: 5CE-3 150 30 1 [[|# 12 » 86 3DXS 5-1400 Mean: T7HW-2 100 50 1
v 98 3NW-150 40  4HW-2 100 20 1 v QJ86 HW-150 -110 6HW-2 100 50 2
92 Dif: -100 NS:-3 3NW-2 100 20 1 ¢ 6 D|f -1450 NS:-15 6HW-1 50 40 4
» Q73 IMP: -3 EW:0 A 00 2 & QJT943 IMP: -16 EW:-4 A 00 2
s Q5 #» J93 4HW-1 50 00 1 ||a AKQT9 a5 3DXS-5  -1400 -150 1
v AKQJ6 v 74 3NW-1 50 00 2 ||w K743 I v AT52
¢ QJB3 * K5 2SN-1 50 30 1(|e9 ¢ AKT74
& JT » A86542 2SN-2 100 -40 1 K8 a A72
F*OVABN 4,72 oo VAN 4 J7432
N ~~~1~ ¢T532 N ~~~~~ v9
S ~~~1~ ¢AT874 S ~~~~~ ¢ QJ8532
E 2~2~1 &K9 E ~~5~6 6
W 2 ~2~1 ~~5~5
# 13 » J76 5CXN-3 -800 Mean: 4SW4 620 1.0 5 ||# 14 » T987 4SE-150 Mean: 4HW-2 100 6.0 1
v2 4SW4 -620 -650 A 00 2 v AK3 4SE4 -420 -130  4SE-1 50 50 3
Dif: -180 NS:-4 4SE5 650 00 2 ¢ K Dif: 470 NS:5 4HW-1 50 50 1
q. QJ86532 IMP: -5 EW:-1 5CXN-3  -800 -4.0 1 & K5432 IMP: 10 EW:7 A 00 2
& AK954 & QT82 a & AKQJ543 4SE4 420 7.0 2
v 83 v QT76 v QJT9875 v 6 5CXN-3  -500 -9.0 1
+ KQ5 + * A762 ¢ AJB52 ¢ 73
& AT7 a9 a7 » A96
o ¢VAN o oVAN 4,62
N2~~~~vAKJ954 N 2~~~~ 942
S 2 ~~~~ ¢J943 S 2 ~~~~ ¢QT94
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 3HS-2 -200 Mean: 3SN-1 100 50 1 ||# 16 s J974 3NE3 -600 Mean: 3NE-1 100 9.0 2
v 4SXN-3 -800 -280 2SN-1 100 50 1 v 96 3NE3 -600 -270 2CS2 90 80 1
+ KQ6 Dif: 600 NS:2 4SN-2 200 20 1 ¢ AQT32 Dif: 0 NS:-8 2SW2 110 4.0 1
» QT3 IMP: 12 EW:11 3SN-2 200 20 2 » 98 IMP: 0 EW:8 A 00 2
& AB52 » 98 3HS-2 200 20 1 ||a KQ83 # T652 3NE3 600 -80 4
v 4 v A98762 A 00 2 ||v QJ8 — v AKT
o AJT ¢ 95 4SXN-2 500 6.0 1 ||e 865 * KJ9
& AK954 » J76 4SXN-3 800 -11.0 1 ||& 753 » AQT
FOVAN , o O4¢VABN LA
N ~2~1~ ¢ KQT53 N 1 ~~~~ 975432
S ~2~1~ ¢87432 S 1~~~~ o74
E2~~~1 &82 E ~~~22 &KJ642
W 3~ -~~~ ~~~21
# 17 & 98652 4HXW4 -590 Mean: 4HW-1 50 90 1 ||# 18 a7 4HN-1 -100 Mean: 3HN4 170 50 2
v AQ5 4HW4 -420 -340 2HW3 140 50 1 v AKQJ9 4HN-1-100 o 4Cs4 130 40 1
* 82 Dif: -170 NS:-6 A 00 2 ¢ 9754 Dif: 0 NS:-3 4SXE-1 100 3.0 1
& KQ5 IMP: -5 EW:2 4HW4 420 20 5 & AK4 IMP: 0 EW:3 A 00 2
a7 a AT43 4HXW4 590  -6.0 1 ||a K52 a QJT963 4HN-1 100 -3.0 2
v KJ8732 v T96 v 5432 I v38 3SE3 140 40 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 4HN-2 -200 -5.0 1
& AJ94 » 62 » 82 » QJ5
P VAN ,KQJ oo VAN 4, A8
N ~~~1~ 94 N 4~3~2 ¢T76
S ~~~1~ ¢JT743 S 4~3~2 4863
E ~~4~1 aT873 E ~~~3~ &T9763
W~ ~ 4~ 1 ~~~3~
# 19 4 AKT84 3SN-1-50 Mean: 3NN4 430 70 1 |[|# 20 & AJT853 3DW3 -110 Mean: 4HE-3 300 80 1
v AKJ 2DN6 170 130  3NN3 400 7.0 1 v T 2NW2 -120 -50  3NW-1 100 40 1
+ Q954 Dif: -220 NS:-5 2DN6 170 1.0 1 ¢ T7 Dif: 10 NS:-2 2SN2 110 40 2
» 6 IMP: -6 EW:-1 A 00 2 » KJ84 IMP: 0 EW:2 A 00 3
& Q96532 »J7 3Ccs4 130 0.0 2 ||a KQ72 a9 3DW3 410 20 1
v Q9 v 87642 3SN-1 -50 50 1 v KJ3 _I_ v Q9872 2NW2 120 2.0 1
¢ J2 * KT7 3NN-1 50 -50 1 ||e K8654 * A93 4HXE4 790 120 1
® QJ3 » A92 3SN-2 100 60 1 || » 9765
FOVAN , o ¢VABN 4,64
N 44~~3 9T53 N 2 ~~2~ v A654
S 34 ~~2 ¢A863 S 2~~2~ ¢QJ2
E ~~~~~ & KT8754 E ~34~1 &QT32
W ~ ~ ~ ~ ~ ~34~1




: e ==> R6
6 11 F<F >ABERFHLETRE == 6
#1: 7 TW Open(70.82) #:2TW M1xed(67 37 #3: 6 [J_I(66 66)
2 NS: Sogf4 22185EGE0) 4 9 NS: #IEF 58/ (BAC) -1 VP:| 15.05 : 4.95 Total VP: 67.37 Rank:
EW: #igr REBEAC) 1 EW: &iil55 BRiEF%(BAO) -4 IMP:| 35 19 2
—
# 11 » AKT864 4HW-1 50 Mean: 5CE-3 150 3.0 1 |[# 12 a 86 6HW-2 100 Mean: 7HW-2 100 50 1
v 98 2SN-2 -100 40 4HW-2 100 20 1 v QJ86 6HW-150 -110 6HW-2 100 50 2
92 Dif: 150 NS:0 3NW-2 100 20 1 ¢ 6 Dif: 50 NS:5 6HW-1 50 40 4
& Q73 IMP: 4 EW:4 A 00 2 & QJT943 IMP: 2 EW:-4 A 00 2
s Q5 #» J93 4HW-1 50 00 1 ||a AKQT9 a5 3DXS-5  -1400 -150 1
v AKQJ6 v 74 3NW-1 50 00 2 ||w K743 I v AT52
¢ QJB3 * K5 2SN-1 50 30 1(|e9 ¢ AKT74
& JT » A86542 2SN-2 100 -40 1 K8 a A72
F*OVABN 4,72 oo VAN 4 J7432
N ~~~1~ ¢T532 N ~~~~~ v9
S ~~~1~ ¢AT874 S ~~~~~ ¢ QJ8532
E 2~2~1 &K9 E ~~5~6 6
W 2 ~2~1 ~~5~5
# 13 » J76 4SW4 -620 Mean: 4SW4 620 1.0 5 ||# 14 » T987 4SE4 -420 Mean: 4HW-2 100 6.0 1
v2 4SE5-650 -650 A 00 2 v AK3 4HW-150 -130 4SE-1 50 50 3
o T Dif: 30 NsS:1 4SE5 650 00 2 ¢ K Dif: -470 NS:-7 4HW-1 50 50 1
.;QJ86532 IMP: 1 EW:0 5CXN-3  -800 -40 1 & K5432 IMP: -10 EW:-5 A 00 2
& AK954 & QT82 a & AKQJ543 4SE4 420 7.0 2
v 83 v QT76 v QJT9875 v 6 5CXN-3  -500 9.0 1
+ KQ5 + * A762 ¢ AJB52 ¢ 73
& AT7 a9 a7 » A96
o ¢VAN o oVAN 4,62
N2~~~~vAKJ954 N 2~~~~ 942
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 4SXN-2 -500 Mean: 3SN-1 100 50 1 ||# 16 s J974 3NE-1 100 Mean: 3NE-1 100 9.0 2
v 2SN-1-100 -280  2SN-1 100 50 1 v 96 3NE3 -600 -270 2CS2 90 80 1
+ KQ6 Dif: -400 NS:-6 4SN-2 200 20 1 ¢ AQT32 Dif: 700 NS:9 2SwW2 110 4.0 1
» QT3 IMP: -9 EW:-5 3SN-2 200 20 2 » 98 IMP: 12 EW:8 A 00 2
& AB52 » 98 3HS-2 200 20 1 ||s KQ83 # T652 3NE3 600 -80 4
v 4 v A98762 A 00 2 ||v QJ8 — v AKT
o AJT ¢ 95 4SXN-2 500 -6.0 1 ||e 865 * KJ9
& AK954 » J76 4SXN-3 800 -11.0 1 ||& 753 » AQT
FOVAN , o O4¢VABN LA
N ~2~1~ ¢ KQJT53 N 1~~~ ~ ¢ 75432
S ~2~1~ ¢87432 S 1~~~~ o74
E 2~~~1 882 E ~~~22 &KJ642
W 3~~~ ~ ~~~21
# 17 & 98652 4HW-1 50 Mean: 4HW-1 50 9.0 1 ||# 18 a7 3HN4 170 Mean: 3HN4 170 50 2
v AQ5 4HW4 -420 -340 2HW3 140 50 1 v AKQJ9 4CS4130 o0 4Cs4 130 40 1
* 82 Dif: 470 NS:9 A 00 2 ¢ 9754 Dif: 40 NS:5 4SXE-1 100 3.0 1
& KQ5 IMP: 10 EW:2 4HW4 420 -20 5 & AK4 IMP: 1 EW:-4 A 00 2
a7 a AT43 4HXW4 590 -6.0 1 ||a K52 a QJT963 4HN-1 100 -3.0 2
v KJ8732 v T96 v 5432 I v38 3SE3 140 40 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 4HN-2 -200 -5.0 1
& AJ94 » 62 » 82 » QJ5
P ¢ VBN o, KQJ oo VAN 4, A8
N ~~~1~ 94 N 4~3~2 ¢T76
S ~~~1~ ¢JT743 S 4~3~2 463
E ~~4~1 aT873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 3CS4 130 Mean: 3NN4 430 70 1 |[|# 20 & AJT853 4HXE4 -790 Mean: 4HE-3 300 80 1
v AKJ 3NN-1-50 130  3NN3 400 7.0 1 v T A -50  3NW-1 100 40 1
+ Q954 Dif: 180 NS:0 2DN6 170 1.0 1 ¢ T7 Dif: 0 NS:-12 2SN2 110 40 2
%6 IMP:5 EW:5 A 00 2 » KJ84 IMP: 0 EW:0 A 00 3
& Q96532 »J7 3Ccs4 130 0.0 2 ||a KQ72 a9 3DW3 410 20 1
v Q9 v 87642 3SN-1 -50 50 1 v KJ3 _I_ v Q9872 2NW2 120 2.0 1
¢ J2 * KT7 3NN-1 50 -50 1 ||e K8654 * A93 4HXE4 790 120 1
® QJ3 a A92 3SN-2 100 60 1 || » 9765
FOVAN , o ¢VABN 4,64
N 44~~3 9T53 N 2 ~~2~ v A654
S 34 ~~2 ¢A863 S 2~~2~ ¢QJ2
E ~~~~~ & KT8754 E ~34~1 &QT32
W~ ~ ~ ~ ~ ~34~1




: e ==> R6
6 11 F<F >ABERFHLETRE == 6
#1: 7 TW Open(70.82) #:2TW M1xed(67 37 #3: 6 [J_I(66 66)
3 NS: #4545 BRHEEGHO) 24 6 NS: BpS4E BRISH(BAC) 6 VP:| 14.80 : 5.20 Total VP: 58.09 Rank:
EW: Eig&E EHEEAC) -6 EW: MHER Mi{E{xL(BAO) -2 IMP:| 31 16 6
—
# 11 & AKT864 5CE-3 150 Mean: 5CE-3 150 3.0 1 [[|# 12 » 86 6HW-2 100 Mean: 7HW-2 100 50 1
v 98 3NW-150 40  4HW-2 100 20 1 v QJ86 6HW-150 -110 6HW-2 100 50 2
92 Dif: 100 NS:3  3NW-2 100 20 1 ¢ 6 Dif: 50 NS:5 6HW-1 50 40 4
» Q73 IMP:3 EW:0 A 00 2 & QJT943 IMP: 2 EW:-4 A 00 2
s Q5 #» J93 4HW-1 50 00 1 ||a AKQT9 a5 3DXS-5  -1400 -150 1
v AKQJ6 v 74 3NW-1 50 00 2 ||w K743 I v AT52
¢ QJB3 * K5 2SN-1 50 30 1(|e9 ¢ AKT74
& JT » A86542 2SN-2 100 -40 1 K8 a A72
F*OVABN 4,72 oo VAN 4 J7432
N ~~~1~ ¢T532 N ~~~~~ v9
S ~~~1~ ¢AT874 S ~~~~~ ¢ QJ8532
E 2~2~1 &K9 E ~~5~6 6
W 2 ~2~1 ~~5~5
# 13 » J76 4SW4 -620 Mean: 4SW4 620 1.0 5 ||# 14 » T987 4SE-150 Mean: 4HW-2 100 6.0 1
v 2 4SW4 -620 -650 A 00 2 v AK3 5CXN-3 -500 -130  4SE-1 50 50 3
o T Dif: 0 NS:1 4SE5 650 00 2 ¢ K Dif: 550 NS:5 4HW-1 50 50 1
ry QJ86532 IMP: 0 EW:-1 5CXN-3  -800 -40 1 & K5432 IMP: 11 EW:9 A 00 2
& AK954 & QT82 a & AKQJ543 4SE4 420 7.0 2
v 83 v QT76 v QJT9875 v 6 5CXN-3  -500 -9.0 1
+ KQ5 + * A762 ¢ AJB52 ¢ 73
& AT7 a9 a7 » A96
o ¢VAN o oVAN 4,62
N2~~~~vAKJ954 N 2~~~~ 942
S 2 ~~~~ ¢J943 S 2 ~~~~ ¢QT94
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 3SN-1-100 Mean: 3SN-1 100 50 1 ||# 16 s J974 2SW2 -110 Mean: 3NE-1 100 9.0 2
v 3SN-2 -200 -280  2SN-1 100 50 1 v 96 3NE3 -600 -270 2CS2 90 80 1
+ KQ6 Dif: 100 NS:5 4SN-2 200 20 1 ¢ AQT32 Dif: 490 NS:4 2SW2 110 4.0 1
» QT3 IMP: 3 EW:-2 3SN-2 200 20 2 » 98 IMP: 10 EW:8 A 00 2
& AB52 » 98 3HS-2 200 20 1 ||s KQ83 # T652 3NE3 600 -80 4
v 4 v A98762 A 00 2 ||v QJ8 — v AKT
o AJT ¢ 95 4SXN-2 500 6.0 1 ||e 865 * KJ9
& AK954 » J76 4SXN-3 800 -11.0 1 ||& 753 » AQT
FOVAN , o O4¢VABN LA
N ~2~1~ ¢ KQT53 N 1 ~~~~ 975432
S ~2~1~ ¢87432 S 1~~~~ o74
E2~~~1 &82 E ~~~22 &KJ642
W 3~ -~~~ ~~~21
# 17 & 98652 4HW4 -420 Mean: 4HW-1 50 9.0 1 ||# 18 a7 3HN4 170 Mean: 3HN4 170 50 2
v AQ5 4HW4 -420 -340 2HW3 140 50 1 v AKQJ9 4SXE-1100 o 4Cs4 130 40 1
¢ 82 Dif: 0 NS:-2 A 00 2 ¢ 9754 Dif: 70 NS:5 4SXE-1 100 3.0 1
& KQ5 IMP: 0 EW:2 4HW4 420 20 5 & AK4 IMP: 2 EW:-3 A 00 2
a7 a AT43 4HXW4 590  -6.0 1 ||a K52 a QJT963 4HN-1 100 -3.0 2
v KJ8732 v T96 v 5432 | v38 3SE3 140 40 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 4HN-2 -200 -5.0 1
& AJ94 » 62 » 82 » QJ5
P VAN ,KQJ oo VAN 4, A8
N ~~~1~ 94 N 4~3~2 ¢T76
S ~~~1~ ¢JT743 S 4~3~2 4863
E ~~4~1 aT873 E ~~~3~ &T9763
W~ ~ 4~ 1 ~~~3~
# 19 4 AKT84 3SN-2 -100 Mean: 3NN4 430 70 1 |[|# 20 & AJT853 3NW-1 100 Mean: 4HE-3 300 80 1
v AKJ 3NN4 430 130  3NN3 400 7.0 1 v T 4HE-3 300 -50  3NW-1 100 40 1
+ Q954 Dif: -530 NS:-6 2DN6 170 1.0 1 ¢ T7 Dif: -200 NS:4 2SN2 110 40 2
» 6 IMP: -11 EW:-7 A 00 2 » KJ84 IMP: -5 EW:-8 A 00 3
& Q96532 »J7 3Ccs4 130 0.0 2 ||a KQ72 a9 3DW3 410 20 1
v Q9 v 87642 3SN-1 -50 50 1 v KJ3 _I_ v Q9872 2NW2 120 2.0 1
¢ J2 * KT7 3NN-1 50 -50 1 ||e K8654 * A93 4HXE4 790 120 1
® QJ3 a A92 3SN-2 100 60 1 || » 9765
FOVAN , o ¢VABN 4,64
N 44~~3 9T53 N 2 ~~2~ v A654
S 34 ~~2 ¢A863 S 2~~2~ ¢QJ2
E ~~~~~ & KT8754 E ~34~1 &QT32
W ~ ~ ~ ~ ~ ~34~1




: i ==> R6
6 11 F<F >ABERFHLETRE == 6
#1: 7 TW Open(70.82) #:2TW M1xed(67 37 #3: 6 [J_I(66 66)
4 NS: (B80) 0 10 NS: (BAC) 0 VP:| 10.00 : 10.00| Total VP: 62.45 Rank:
EW: (BEC)0 EW: (Bd0)0 IMP:| 0 ;0 5
—
# 11 » AKT864 Mean: 5CE-3 150 3.0 1 |[# 12 » 86 Mean: 7HW-2 100 50 1
v 98 40  4HW-2 100 20 1 v QJ86 110 6HW-2 100 50 2
92 Dif: NS:0 3NW-2 100 20 1 ¢ 6 Dif: NS:0 6HW-1 50 40 4
» Q73 IMP: EW:0 A 00 2 & QJT943 IMP: EW:0 A 00 2
s Q5 #» J93 4HW-1 50 00 1 ||a AKQT9 a5 3DXS-5  -1400 -150 1
v AKQJ6 v 74 3NW-1 50 00 2 ||w K743 I v AT52
¢ QJB3 * K5 2SN-1 50 30 1(|e9 o AKT74
& JT » A86542 2SN-2 100 -40 1 K8 a A72
F*OVABN 4,72 oo VAN 4 J7432
N ~~~1~ ¢T532 N ~~~~~ v9
S ~~~1~ ¢AT874 S ~~~~~ ¢ QJ8532
E 2~2~1 &K9 E ~~5~6 6
W 2 ~2~1 ~~5~5
# 13 » J76 Mean: 4SW4 620 1.0 5 ||# 14 a T987 Mean: 4HW-2 100 6.0 1
v 2 650 A 00 2 v AK3 130 4SE-1 50 50 3
Dif: NS:0 4SE5 650 00 2 ¢ K Dif: NS:0 4HW-1 50 50 1
.|. QJ86532 IMP: EW:0 5CXN-3  -800 -4.0 1 & K5432 IMP: EW:0 A 00 2
& AK954 & QT82 a & AKQJ543 4SE4 420 7.0 2
v 83 v QT76 v QJT9875 v 6 5CXN-3  -500 -9.0 1
+ KQ5 + * A762 ¢ AJB52 ¢ 73
& AT7 a9 a7 » A96
o ¢VAN o oVAN 4,62
N2~~~~vAKJ954 N 2~~~~ 942
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 Mean: 3SN-1 4100 50 1 ||# 16 » J974 Mean: 3NE-1 100 9.0 2
v 280  2SN-1 100 50 1 v 96 270  2CS2 90 80 1
+ KQ6 Dif: NS:0 4SN-2 200 20 1 ¢ AQT32 Dif: NS:0 2Sw2 110 40 1
» QT3 IMP: EW:0 3SN-2 200 20 2 » 98 IMP: EW:0 A 00 2
& AB52 » 98 3HS-2 200 20 1 ||a KQ83 # T652 3NE3 600 -80 4
v 4 v A98762 A 00 2 ||v QJ8 — v AKT
o AJT ¢ 95 4SXN-2 500 -6.0 1 ||e 865 * KJ9
& AK954 » J76 4SXN-3 800 -11.0 1 ||& 753 » AQT
FOVAN , o O4¢VABN LA
N ~2~1~ ¢ KQT53 N 1 ~~~~ 975432
S ~2~1~ ¢87432 S 1~~~~ o74
E2~~~1 &82 E ~~~22 &KJ642
W 3~~~ ~ ~~~21
# 17 & 98652 Mean: 4HW-1 50 90 1 ||# 18 a7 Mean: 3HN4 170 50 2
v AQ5 340 2HW3 140 50 1 v AKQJ9 0 4Cs4 130 40 1
¢ 82 Dif: NS:0 A 00 2 ¢ 9754 Dif: NS:0 4SXE-1 100 3.0 1
& KQ5 IMP: EW:0 4HW4 420 20 5 & AK4 IMP: EW:0 A 00 2
a7 a AT43 4HXW4 590  -6.0 1 ||a K52 » QJT963 4HN-1 100 -3.0 2
v KJ8732 v T96 v 5432 | v38 3SE3 140 40 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 4HN-2 -200 -5.0 1
& AJ94 » 62 » 82 » QJ5
P ¢ VBN o, KQJ oo VAN 4, A8
N ~~~1~ 94 N 4~3~2 ¢T76
S ~~~1~ ¢JT743 S 4~3~2 463
E ~~4~1 aT873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 # AKT84 Mean: 3NN4 430 7.0 1 ||# 20 4 AJT853 Mean: 4HE-3 300 80 1
v AKJ 130  3NN3 400 7.0 1 v T 50 3NW-1 100 40 1
+ Q954 Dif: NS:0 2DN6 170 1.0 1 ¢ T7 Dif: NS:0 2SN2 110 40 2
» 6 IMP: EW:0 A 00 2 » KJ84 IMP: EW:0 A 00 3
& Q96532 »J7 3Ccs4 130 0.0 2 ||a KQ72 a9 3DW3 410 20 1
v Q9 v 87642 3SN-1 -50 5.0 1 v KJ3 _I_ v Q9872 2NW2 120 2.0 1
¢ J2 * KT7 3NN-1 50 -50 1 ||e K8654 * A93 4HXE4 790 120 1
® QJ3 » A92 3SN-2 100 60 1 || » 9765
FOVAN , o ¢VABN 4,64
N 44~~3 9T53 N 2 ~~2~ v A654
S 34 ~~2 ¢A863 S 2~~2~ ¢QJ2
E ~~~~~ & KT8754 E ~34~1 &QT32
W o~~~ ~ ~ ~34~1




: e ==> R6
6 11 F<F >ABERFHLETRE == 6
#1: 7 TW Open(70.82) #:2TW M1xed(67 37 #3: 6 [J_I(66 66)
5 NS: %2 $iFaRGH0) 27 8 NS: BRE BEREIS(BAC) 28 VP:| 8.86 11.14| Total VP: 65.97 Rank:
EW: #5153 PEZERE(EAC) -28 EW: R85 Bt A(BAO) -2 IMP:| 9 12 4
—
# 11 » AKT864 3NW-2 100 Mean: 5CE-3 150 3.0 1 |[# 12 » 86 6HW-1 50 Mean: 7HW-2 100 50 1
v 98 4HW-2100 40  4HW-2 100 20 1 v QJ86 7HW-2 100 -110  6HW-2 100 50 2
92 Dif: 0 NS:2 3NW-2 100 20 1 ¢ 6 Dif: -50 NS:4 6HW-1 50 40 4
» Q73 IMP: 0 EW:2 A 00 2 & QJT943 IMP: -2 EW:5 A 00 2
s Q5 #» J93 4HW-1 50 00 1 ||a AKQT9 a5 3DXS-5  -1400 -150 1
v AKQJ6 v 74 3NW-1 50 00 2 ||w K743 I v AT52
¢ QJB3 * K5 2SN-1 50 30 1(|e9 ¢ AKT74
& JT » A86542 2SN-2 100 -40 1 K8 a A72
F*OVABN 4,72 oo VAN 4 J7432
N ~~~1~ ¢T532 N ~~~~~ v9
S ~~~1~ ¢AT874 S ~~~~~ ¢ QJ8532
E 2~2~1 &K9 E ~~5~6 6
W 2 ~2~1 ~~5~5
# 13 » J76 4SE5 -650 Mean: 4SW4 620 1.0 5 ||# 14 » T987 4HW-2 100 Mean: 4HW-2 100 6.0 1
v2 4SW4 -620 -650 A 00 2 v AK3 4SE-150 -130  4SE-1 50 50 3
Dif: -30 NS:0 4SE5 650 00 2 ¢ K Dif: 50 NS:6 4HW-1 50 50 1
.|. QJ86532 IMP: -1 EW:-1 5CXN-3  -800 -4.0 1 & K5432 IMP: 2 EW:-5 A 00 2
& AK954 & QT82 a & AKQJ543 4SE4 420 7.0 2
v 83 v QT76 v QJT9875 v 6 5CXN-3  -500 -9.0 1
+ KQ5 + * A762 ¢ AJB52 ¢ 73
& AT7 a9 a7 » A96
o ¢VAN o oVAN 4,62
N2~~~~vAKJ954 N 2~~~~ 942
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 3SN-2 -200 Mean: 3SN-1 100 50 1 ||# 16 s J974 3NE-1 100 Mean: 3NE-1 100 9.0 2
v 4SN-2 -200 -280  2SN-1 100 50 1 v 96 2CS290 -270 2CS2 90 80 1
+ KQ6 Dif: 0 NS:2 4SN-2 200 20 1 ¢ AQT32 Dif: 10 NS:9 2sw2 110 4.0 1
» QT3 IMP: 0 EW:-2 3SN-2 200 20 2 » 98 IMP: 0 EW:8 A 00 2
& AB52 » 98 3HS-2 200 20 1 ||a KQ83 # T652 3NE3 600 -80 4
v 4 v A98762 A 00 2 ||v QJ8 — v AKT
o AJT ¢ 95 4SXN-2 500 -6.0 1 ||e 865 * KJ9
& AK954 » J76 4SXN-3 800 -11.0 1 ||& 753 » AQT
FOVAN , o O4¢VABN LA
N ~2~1~ ¢ KQJT53 N 1~~~ ~ ¢ 75432
S ~2~1~ ¢87432 S 1~~~~ o74
E 2~~~1 882 E ~~~22 &KJ642
W 3~~~ ~ ~~~21
# 17 & 98652 4HW4 -420 Mean: 4HW-1 50 90 1 ||# 18 a7 4HN-2 -200 Mean: 3HN4 170 50 2
v AQ5 2HW3 -140 -340  2HW3 140 50 1 v AKQJ9 3SE3-140 o0 4Cs4 130 40 1
¢ 82 Dif: -280 NsS:-2 A 00 2 ¢ 9754 Dif: -60 NS:-5 4SXE-1 100 3.0 1
& KQ5 IMP: -7 EW:-5 4HW4 420 20 5 & AK4 IMP: -2 EW:4 A 00 2
a7 a AT43 4HXW4 590  -6.0 1 ||a K52 » QJT963 4HN-1 100 -3.0 2
v KJ8732 v T96 v 5432 | v38 3SE3 140 40 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 4HN-2 -200 -5.0 1
& AJ94 » 62 » 82 » QJ5
P VAN ,KQJ oo VAN 4, A8
N ~~~1~ 94 N 4~3~2 ¢T76
S ~~~1~ ¢JT743 S 4~3~2 4863
E ~~4~1 aT873 E ~~~3~ &T9763
W~ ~ 4~ 1 ~~~3~
# 19 4 AKT84 3NN3 400 Mean: 3NN4 430 70 1 |[|# 20 & AJT853 2SN2 110 Mean: 4HE-3 300 80 1
v AKJ 3CS4130 130  3NN3 400 7.0 1 v T 2SN2110 -50  3NW-1 100 40 1
+ Q954 Dif: 270 NS:7 2DN6 170 1.0 1 ¢ T7 Dif: 0 NS:4 2SN2 110 40 2
» 6 IMP: 7 EW:0 A 00 2 » KJ84 IMP: 0 EW:-4 A 00 3
& Q96532 »J7 3Ccs4 130 0.0 2 ||a KQ72 a9 3DW3 410 20 1
v Q9 v 87642 3SN-1 -50 50 1 v KJ3 _I_ v Q9872 2NW2 120 2.0 1
¢ J2 * KT7 3NN-1 50 -50 1 ||e K8654 * A93 4HXE4 790 120 1
® QJ3 » A92 3SN-2 100 60 1 || » 9765
FOVAN , o ¢VABN 4,64
N 44~~3 9T53 N 2 ~~2~ v A654
S 34 ~~2 ¢A863 S 2~~2~ ¢QJ2
E ~~~~~ & KT8754 E ~34~1 &QT32
W ~ ~ ~ ~ ~ ~34~1




: e ==> R6
6 11 F<F >ABERFHLETRE == 6
#1: 7 TW Open(70.82) #:2TW M1xed(67 37 #3: 6 [J_I(66 66)
6 NS: ¥54%5 BEEBREAC) 6 3 NS: #t# 8 ERHEE(BAO) 24| VP:| 5.20 14.80 | Total VP: 66.66 Rank:
EW: JF)F,Q‘\,L,\ MEBEEGHO) 24 EW: 3BiZiE FERIR(BAC) -6 IMP:| 16 31 3
# 11 .AKT864 5CE-3 -150 Mean: 5CE-3 150 3.0 1 [[|# 12 » 86 6HW-2 -100 Mean: 7HW-2 100 50 1
v 98 3NW-1-50 40  4HW-2 100 20 1 v QJ86 6HW-1-50 -110  6HW-2 100 50 2
92 Dif: -100 NS:0 3NW-2 100 20 1 ¢ 6 Dif: -50 NS:4 6HW-1 50 40 4
& Q73 IMP: -3 EW:-3 A 00 2 & QJT943 IMP: -2 EW:5 A 00 2
s Q5 #» J93 4HW-1 50 00 1 ||a AKQT9 a5 3DXS-5  -1400 -150 1
v AKQJ6 v 74 3NW-1 50 00 2 ||w K743 I v AT52
¢ QJB3 * K5 2SN-1 50 30 1(|e9 ¢ AKT74
& JT » A86542 2SN-2 100 -40 1 K8 a A72
F*OVABN 4,72 oo VAN 4 J7432
N ~~~1~ ¢T532 N ~~~~~ v9
S ~~~1~ ¢AT874 S ~~~~~ ¢ QJ8532
E 2~2~1 &K9 E ~~5~6 6
W 2 ~2~1 ~~5~5
# 13 » J76 4SW4 620 Mean: 4SW4 620 1.0 5 ||# 14 » T987 4SE-1-50 Mean: 4HW-2 100 6.0 1
v 2 4SW4 620 -650 A 00 2 v AK3 5CXN-3 500 -130  4SE-1 50 50 3
Dif: 0 NS:1 4SE5 650 00 2 ¢ K Dif: -550 NS:-9 4HW-1 50 50 1
q. QJ86532 IMP: 0 EW:-1 5CXN-3  -800 -40 1 & K5432 IMP: -11 EW:-5 A 00 2
& AK954 & QT82 a & AKQJ543 4SE4 420 7.0 2
v 83 v QT76 v QJT9875 v 6 5CXN-3  -500 9.0 1
+ KQ5 + * A762 ¢ AJB52 ¢ 73
& AT7 a9 a7 » A96
o ¢VAN o oVAN 4,62
N2~~~~vAKJ954 N 2~~~~ 942
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 3SN-1 100 Mean: 3SN-1 100 50 1 ||# 16 s J974 2SW2 110 Mean: 3NE-1 100 9.0 2
v 3SN-2200 -280 2SN+ 100 50 1 v 96 3NE3 600 -270 2CS2 90 80 1
+ KQ6 Dif: -100 NS:2 4SN-2 200 20 1 ¢ AQT32 Dif: -490 NS:-8 2SW2 110 4.0 1
» QT3 IMP: -3 EW:-5 3SN-2 200 20 2 » 98 IMP: -10 EW:-4 A 00 2
& AB52 » 98 3HS-2 200 20 1 ||s KQ83 # T652 3NE3 600 -80 4
v 4 v A98762 A 00 2 ||v QJ8 — v AKT
o AJT ¢ 95 4SXN-2 500 -6.0 1 ||e 865 * KJ9
& AK954 » J76 4SXN-3 800 -11.0 1 ||& 753 » AQT
FOVAN , o O4¢VABN LA
N ~2~1~ ¢ KQJT53 N 1~~~ ~ ¢ 75432
S ~2~1~ ¢87432 S 1~~~~ o74
E 2~~~1 882 E ~~~22 &KJ642
W 3~~~ ~ ~~~21
# 17 & 98652 4HW4 420 Mean: 4HW-1 50 9.0 1 [[|# 18 a7 3HN4 -170 Mean: 3HN4 170 50 2
v AQ5 4HW4 420 -340 2HW3 140 50 1 v AKQJ9 4SXE-1-100 o0 4Cs4 130 40 1
¢ 82 Dif: 0 NS:-2 A 00 2 ¢ 9754 Dif: -70 NS:3  4SXE-1 100 3.0 1
& KQ5 IMP: 0 EW:2 4HW4 420 20 5 & AK4 IMP: -2 EW:-5 A 00 2
a7 a AT43 4HXW4 590 -6.0 1 ||a K52 a QJT963 4HN-1 100 -3.0 2
v KJ8732 v T96 v 5432 I v38 3SE3 140 40 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 4HN-2 -200 -5.0 1
& AJ94 » 62 » 82 » QJ5
P VAN ,KQJ oo VAN 4, A8
N ~~~1~ 94 N 4~3~2 ¢T76
S ~~~1~ ¢JT743 S 4~3~2 4863
E ~~4~1 aT873 E ~~~3~ &T9763
W~ ~ 4~ 1 ~~~3~
# 19 4 AKT84 3SN-2 100 Mean: 3NN4 430 70 1 |[|# 20 & AJT853 3NW-1-100 Mean: 4HE-3 300 80 1
v AKJ 3NN4 -430 130  3NN3 400 7.0 1 v T 4HE-3 -300 -50  3NW-1 100 40 1
+ Q954 Dif: 530 NS:7 2DN6 170 1.0 1 ¢ T7 Dif: 200 NS:8 2SN2 110 40 2
%6 IMP: 11 EW:6 A 00 2 » KJ84 IMP: 5 EW:-4 A 00 3
& Q96532 »J7 3Ccs4 130 0.0 2 ||a KQ72 a9 3DW3 410 20 1
v Q9 v 87642 3SN-1 -50 50 1 v KJ3 _I_ v Q9872 2NW2 120 2.0 1
¢ J2 * KT7 3NN-1 50 -50 1 ||e K8654 * A93 4HXE4 790 120 1
® QJ3 a A92 3SN-2 100 60 1 || » 9765
FOVAN , o ¢VABN 4,64
N 44~~3 9T53 N 2 ~~2~ v A654
S 34 ~~2 ¢A863 S 2~~2~ ¢QJ2
E ~~~~~ & KT8754 E ~34~1 &QT32
W~ ~ ~ ~ ~ ~34~1




: e ==> R6
6 11 F<F >ABERFHLETRE == 6
#1: 7 TW Open(70.82) #:2TW M1xed(67 37 #3: 6 [J_I(66 66)
7 NS: F3. X34 BRI $R(ERC) -27 1 NS: ¥i8 lEi3h{h(F0) -39 VP:| 14.28 : 5.72 Total VP: 70.82 Rank:
EW: EEJ?J,.“ EBEEO) 39 EW: $B{ 3 HE:R(BC) 27 IMP:| 35 22 1
# 11 .AKT864 2SN-1 50 Mean: 5CE-3 150 3.0 1 [[|# 12 » 86 3DXS-51400 Mean: 7HW-2 100 50 1
v 98 3NW-1-50 40  4HW-2 100 20 1 v QJ86 6HW-1-50 -110  6HW-2 100 50 2
92 Dif: 100 NS:0 3NW-2 100 20 1 ¢ 6 Dif: 1450 NS:4 6HW-1 50 40 4
» Q73 IMP:3 EW:3 A 00 2 & QJT943 IMP: 16 EW:15 A 00 2
s Q5 #» J93 4HW-1 50 00 1 ||a AKQT9 a5 3DXS-5  -1400 -150 1
v AKQJ6 v 74 3NW-1 50 00 2 ||w K743 I v AT52
¢ QJB3 * K5 2SN-1 50 30 1(|e9 ¢ AKT74
& JT » A86542 2SN-2 100 -40 1 K8 a A72
F*OVABN 4,72 oo VAN 4 J7432
N ~~~1~ ¢T532 N ~~~~~ v9
S ~~~1~ ¢AT874 S ~~~~~ ¢ QJ8532
E 2~2~1 &K9 E ~~5~6 6
W 2 ~2~1 ~~5~5
# 13 » J76 5CXN-3 800 Mean: 4SW4 620 1.0 5 ||# 14 » T987 4SE-1-50 Mean: 4HW-2 100 6.0 1
v 2 4SW4 620 -650 A 00 2 v AK3 4SE4 420 -130  4SE-1 50 50 3
Dif: 180 NS:1 4SE5 650 00 2 ¢ K Dif: -470 NS:-7 4HW-1 50 50 1
.;QJ86532 IMP: 5 EW:4 5CXN-3  -800 -40 1 & K5432 IMP: -10 EW:-5 A 00 2
& AK954 & QT82 a & AKQJ543 4SE4 420 7.0 2
v 83 v QT76 v QJT9875 v 6 5CXN-3  -500 -9.0 1
+ KQ5 + * A762 ¢ AJB52 ¢ 73
& AT7 a9 a7 » A96
o ¢VAN o oVAN 4,62
N2~~~~vAKJ954 N 2~~~~ 942
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 3HS-2200 Mean: 3SN-1 100 50 1 ||# 16 s J974 3NE3 600 Mean: 3NE-1 100 9.0 2
v 4SXN-3 800 -280  2SN-1 100 50 1 v 96 3NE3 600 -270 2CS2 90 80 1
+ KQ6 Dif: -600 NS:-11 4SN-2 200 20 1 ¢ AQT32 Dif: 0 NS:-8 2SW2 110 4.0 1
» QT3 IMP: -12 EW:-2 3SN-2 200 20 2 » 98 IMP: 0 EW:8 A 00 2
& AB52 » 98 3HS-2 200 20 1 ||a KQ83 # T652 3NE3 600 -80 4
v 4 v A98762 A 00 2 ||v QJ8 — v AKT
o AJT ¢ 95 4SXN-2 500 6.0 1 ||e 865 * KJ9
& AK954 » J76 4SXN-3 800 -11.0 1 ||& 753 » AQT
FOVAN , o O4¢VABN LA
N ~2~1~ ¢ KQJT53 N 1~~~ ~ ¢ 75432
S ~2~1~ ¢87432 S 1~~~~ o74
E 2~~~1 882 E ~~~22 &KJ642
W 3~~~ ~ ~~~21
# 17 & 98652 4HXW4 590 Mean: 4HW-1 50 90 1 ||# 18 a7 4HN-1 100 Mean: 3HN4 170 50 2
v AQ5 4HW4 420 -340 2HW3 140 50 1 v AKQJ9 4HN-1100 © 4Cs4 130 40 1
¢ 82 Dif: 170 NS:2 A 00 2 ¢ 9754 Dif: 0 NS:-3 4SXE-1 100 3.0 1
& KQ5 IMP: 5 EW:6 4HW4 420 20 5 & AK4 IMP: 0 EW:3 A 00 2
a7 a AT43 4HXW4 590  -6.0 1 ||a K52 a QJT963 4HN-1 100 -3.0 2
v KJ8732 v T96 v 5432 | v38 3SE3 140 40 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 4HN-2 -200 -5.0 1
& AJ94 » 62 » 82 » QJ5
P ¢ VBN o, KQJ oo VAN 4, A8
N ~~~1~ 94 N 4~3~2 ¢T76
S ~~~1~ ¢JT743 S 4~3~2 463
E ~~4~1 aT873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 3SN-150 Mean: 3NN4 430 70 1 |[|# 20 & AJT853 3DW3 110 Mean: 4HE-3 300 80 1
v AKJ 2DN6 -170 130  3NN3 400 7.0 1 v T 2NW2 120 -50  3NW-1 100 40 1
+ Q954 Dif: 220 NS:1 2DN6 170 1.0 1 ¢ T7 Dif: -10 NS:-2 2SN2 110 40 2
» 6 IMP: 6 EW:5 A 00 2 » KJ84 IMP: 0 EW:2 A 00 3
& Q96532 »J7 3Ccs4 130 0.0 2 ||a KQ72 a9 3DW3 410 20 1
v Q9 v 87642 3SN-1 -50 50 1 v KJ3 _I_ v Q9872 2NW2 120 2.0 1
¢ J2 * KT7 3NN-1 50 -50 1 ||e K8654 * A93 4HXE4 790 120 1
® QJ3 » A92 3SN-2 100 60 1 || » 9765
FOVAN , o ¢VABN 4,64
N 44~~3 9T53 N 2 ~~2~ v A654
S 34 ~~2 ¢A863 S 2~~2~ ¢QJ2
E ~~~~~ & KT8754 E ~34~1 &QT32
W ~ ~ ~ ~ ~ ~34~1




* e ==> R6
6 111 £ F 2ABERFHLETRE = 6
#1: 7 TW Open(70.82) #:2TW M1xed(67 37 #3: 6 [J_I(66 66)
8 NS: BT BVERERC) 28 5 NS: #IRZE #HiRsE(F0) 27 VP:| 11.14 : 8.86 Total VP: 47.65 Rank:
EW: Sfas BEEH&uEH0) 27 EW: #1E%} BRIER(BAC) -2 IMP:| 12 9 8
—
# 11 » AKT864 3NW-2 -100 Mean: 5CE-3 150 3.0 1 |[# 12 a 86 6HW-1-50 Mean: 7HW-2 100 50 1
v 98 4HW-2 -100 40 4HW-2 100 20 1 v QJ86 7HW-2 -100 -110  6HW-2 100 50 2
92 Dif: 0 NS:2 3NW-2 100 20 1 ¢ 6 Dif: 50 NS:5 6HW-1 50 40 4
» Q73 IMP: 0 EW:2 A 00 2 & QJT943 IMP: 2 EW:-4 A 00 2
s Q5 #» J93 4HW-1 50 00 1 ||a AKQT9 a5 3DXS-5  -1400 -150 1
v AKQJ6 v 74 3NW-1 50 00 2 ||w K743 I v AT52
¢ QJB3 * K5 2SN-1 50 30 1(|e9 ¢ AKT74
& JT » A86542 2SN-2 100 -40 1 K8 a A72
F*OVABN 4,72 oo VAN 4 J7432
N ~~~1~ ¢T532 N ~~~~~ v9
S ~~~1~ ¢AT874 S ~~~~~ ¢ QJ8532
E 2~2~1 &K9 E ~~5~6 6
W 2 ~2~1 ~~5~5
# 13 » J76 4SE5 650 Mean: 4SW4 620 1.0 5 ||# 14 » T987 4HW-2 -100 Mean: 4HW-2 100 6.0 1
v2 4SW4 620 -650 A 00 2 v AK3 4SE-1-50 -130 4SE-1 50 50 3
Dif: 30 NS:1 4SE5 650 00 2 ¢ K Dif: -50 NS:5 4HW-1 50 50 1
q.QJ86532 IMP: 1 EW:0 5CXN-3  -800 -40 1 & K5432 IMP: -2 EW:-6 A 00 2
& AK954 & QT82 a & AKQJ543 4SE4 420 7.0 2
v 83 v QT76 v QJT9875 v 6 5CXN-3  -500 -9.0 1
+ KQ5 + * A762 ¢ AJB52 ¢ 73
& AT7 a9 a7 » A96
o ¢VAN o oVAN 4,62
N2~~~~vAKJ954 N 2~~~~ 942
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 3SN-2200 Mean: 3SN-1 100 50 1 ||# 16 s J974 3NE-1-100 Mean: 3NE-1 100 9.0 2
v 4SN-2200 -280 2SN-1 100 50 1 v 96 2CS2-90 -270 2CS2 90 80 1
+ KQ6 Dif: 0 NS:2 4SN-2 200 20 1 ¢ AQT32 Dif: 10 NS:8 2sw2 110 4.0 1
» QT3 IMP: 0 EW:-2 3SN-2 200 20 2 » 98 IMP: 0 EW:9 A 00 2
& AB52 » 98 3HS-2 200 20 1 ||a KQ83 # T652 3NE3 600 -80 4
v 4 v A98762 A 00 2 ||v QJ8 — v AKT
o AJT ¢ 95 4SXN-2 500 -6.0 1 ||e 865 * KJ9
& AK954 » J76 4SXN-3 800 -11.0 1 ||& 753 » AQT
FOVAN , o O4¢VABN LA
N ~2~1~ ¢ KQJT53 N 1~~~ ~ ¢ 75432
S ~2~1~ ¢87432 S 1~~~~ o74
E 2~~~1 882 E ~~~22 &KJ642
W 3~~~ ~ ~~~21
# 17 & 98652 4HW4 420 Mean: 4HW-1 50 9.0 1 [[|# 18 a7 4HN-2 200 Mean: 3HN4 170 50 2
v AQ5 2HW3 140 -340 2HW3 140 50 1 v AKQJ9 3SE3140 o0 4Cs4 130 40 1
* 82 Dif: 280 NS:5 A 00 2 ¢ 9754 Dif: 60 NS:-4 4SXE-1 100 3.0 1
& KQ5 IMP: 7 EW:2 4HW4 420 20 5 & AK4 IMP: 2 EW:5 A 00 2
a7 a AT43 4HXW4 590  -6.0 1 ||a K52 a QJT963 4HN-1 100 -3.0 2
v KJ8732 v T96 v 5432 I v38 3SE3 140 40 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 4HN-2 -200 -5.0 1
& AJ94 » 62 » 82 » QJ5
P VAN ,KQJ oo VAN 4, A8
N ~~~1~ 94 N 4~3~2 ¢T76
S ~~~1~ ¢JT743 S 4~3~2 4863
E ~~4~1 aT873 E ~~~3~ &T9763
W~ ~ 4~ 1 ~~~3~
# 19 4 AKT84 3NN3 -400 Mean: 3NN4 430 70 1 |[|# 20 & AJT853 2SN2 -110 Mean: 4HE-3 300 80 1
v AKJ 3CS4-130 130  3NN3 400 7.0 1 v T 2SN2 -110 50  3NW-1 100 40 1
+ Q954 Dif: -270 NS:0 2DN6 170 1.0 1 ¢ T7 Dif: 0 NS:4 2SN2 110 40 2
» 6 IMP: -7 EW:-7 A 00 2 » KJ84 IMP: 0 EW:-4 A 00 3
& Q96532 »J7 3Ccs4 130 0.0 2 ||a KQ72 a9 3DW3 410 20 1
v Q9 v 87642 3SN-1 -50 50 1 v KJ3 _I_ v Q9872 2NW2 120 2.0 1
¢ J2 * KT7 3NN-1 50 -50 1 ||e K8654 * A93 4HXE4 790 120 1
® QJ3 a A92 3SN-2 100 60 1 || » 9765
FOVAN , o ¢VABN 4,64
N 44~~3 9T53 N 2 ~~2~ v A654
S 34 ~~2 ¢A863 S 2~~2~ ¢QJ2
E ~~~~~ & KT8754 E ~34~1 &QT32
W ~ ~ ~ ~ ~ ~34~1




: e ==> R6
6 11 F<F >ABERFHLETRE == 6
#1: 7 TW Open(70.82) #:2TW M1xed(67 37 #3: 6 [J_I(66 66)
9 NS: FENER 2 ERZEAC) -1 2 NS: So#li4E 22155 (FH0) 4 VP:| 4.95 15.05| Total VP: 56.95 Rank:
EW: 81505 BREEBEIO) 4 EW: &g REB(BAC) 1 IMP:| 19 35 7
—
# 11 #» AKT864 4HW-1 -50 Mean: 5CE-3 150 3.0 1 [[|# 12 s 86 6HW-2 -100 Mean: 7HW-2 100 50 1
v 98 2SN-2100 40 4HW-2 100 20 1 v QJ86 6HW-1 -50 -110  6HW-2 100 50 2
92 Dif: -150 NS:-4 3NW-2 100 20 1 ¢ 6 Dif: -50 NS:4 6HW-1 50 40 4
& Q73 IMP: -4 EW:0 A 00 2 & QJT943 IMP: -2 EW:5 A 00 2
s Q5 #» J93 4HW-1 50 00 1 ||a AKQT9 a5 3DXS-5  -1400 -150 1
v AKQJ6 v 74 3NW-1 50 00 2 ||w K743 I v AT52
¢ QJB3 * K5 2SN-1 50 30 1(|e9 ¢ AKT74
& JT » A86542 2SN-2 100 -40 1 K8 a A72
F*OVABN 4,72 oo VAN 4 J7432
N ~~~1~ ¢T532 N ~~~~~ v9
S ~~~1~ ¢AT874 S ~~~~~ ¢ QJ8532
E 2~2~1 &K9 E ~~5~6 6
W 2 ~2~1 ~~5~5
# 13 » J76 4SW4 620 Mean: 4SW4 620 1.0 5 ||# 14 » T987 4SE4 420 Mean: 4HW-2 100 6.0 1
v2 4SE5650 -650 A 00 2 v AK3 4HW-1 -50 -130  4SE-1 50 50 3
Dif: -30 NS:0 4SE5 650 00 2 ¢ K Dif: 470 NS:5 4HW-1 50 50 1
q. QJ86532 IMP: -1 EW:-1 5CXN-3  -800 -40 1 & K5432 IMP: 10 EW:7 A 00 2
& AK954 & QT82 a & AKQJ543 4SE4 420 7.0 2
v 83 v QT76 v QJT9875 v 6 5CXN-3  -500 -9.0 1
+ KQ5 + * A762 ¢ AJB52 ¢ 73
& AT7 a9 a7 » A96
o ¢VAN o oVAN 4,62
N2~~~~vAKJ954 N 2~~~~ 942
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 4SXN-2 500 Mean: 3SN-1 100 50 1 ||# 16 s J974 3NE-1-100 Mean: 3NE-1 100 9.0 2
v 2SN-1100 -280  2SN-1 100 50 1 v 96 3NE3 600 -270 2CS2 90 80 1
+ KQ6 Dif: 400 NS:5 4SN-2 200 20 1 ¢ AQT32 Dif: -700 NS:-8 2SW2 110 4.0 1
» QT3 IMP: 9 EW:6 3SN-2 200 20 2 » 98 IMP: -12 EW:-9 A 00 2
& AB52 » 98 3HS-2 200 20 1 ||s KQ83 # T652 3NE3 600 -80 4
v 4 v A98762 A 00 2 ||v QJ8 — v AKT
o AJT ¢ 95 4SXN-2 500 -6.0 1 ||e 865 * KJ9
& AK954 » J76 4SXN-3 800 -11.0 1 ||& 753 » AQT
FOVAN , o O4¢VABN LA
N ~2~1~ ¢ KQJT53 N 1~~~ ~ ¢ 75432
S ~2~1~ ¢87432 S 1~~~~ o74
E 2~~~1 882 E ~~~22 &KJ642
W 3~~~ ~ ~~~21
# 17 & 98652 4HW-1 -50 Mean: 4HW-1 50 9.0 1 ||# 18 a7 3HN4 -170 Mean: 3HN4 170 50 2
v AQ5 4HW4 420 -340 2HW3 140 50 1 v AKQJ9 4CS4-130 0 4Cs4 130 40 1
* 82 Dif: -470 NsS:-2 A 00 2 ¢ 9754 Dif: -40 NS:4 4SXE-1 100 3.0 1
& KQ5 IMP: -10 EW:-9 4HW4 420 -20 5 & AK4 IMP: -1 EW:-5 A 00 2
a7 a AT43 4HXW4 590  -6.0 1 ||a K52 a QJT963 4HN-1 100 -3.0 2
v KJ8732 v T96 v 5432 I v38 3SE3 140 40 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 4HN-2 -200 -5.0 1
& AJ94 » 62 » 82 » QJ5
P ¢ VBN o, KQJ oo VAN 4, A8
N ~~~1~ 94 N 4~3~2 ¢T76
S ~~~1~ ¢JT743 S 4~3~2 463
E ~~4~1 aT873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 3CS4-130 Mean: 3NN4 430 70 1 |[|# 20 & AJT853 4HXE4 790 Mean: 4HE-3 300 80 1
v AKJ 3NN-150 130  3NN3 400 7.0 1 v T A -50  3NW-1 100 40 1
+ Q954 Dif: -180 NS:-5 2DN6 170 1.0 1 ¢ T7 Dif: 0 NS:0 2SN2 110 40 2
» 6 IMP: -5 EW:0 A 00 2 » KJ84 IMP: 0 EW:12 A 00 3
& Q96532 »J7 3Ccs4 130 0.0 2 ||a KQ72 a9 3DW3 410 20 1
v Q9 v 87642 3SN-1 -50 50 1 v KJ3 _I_ v Q9872 2NW2 120 2.0 1
¢ J2 * KT7 3NN-1 50 -50 1 ||e K8654 * A93 4HXE4 790 120 1
® QJ3 a A92 3SN-2 100 60 1 || » 9765
FOVAN , o ¢VABN 4,64
N 44~~3 9T53 N 2 ~~2~ v A654
S 34 ~~2 ¢A863 S 2~~2~ ¢QJ2
E ~~~~~ & KT8754 E ~34~1 &QT32
W~ ~ ~ ~ ~ ~34~1




" i ==> R6
6 11 FF 2RABERFHLETRE = 6
#1: 7 TW Open(70.82) #:2TW M1xed(67 37 #3. 6 [J_I(66 66)
1 O NS: (BC) 0 4 NS: (F80)0 VP:| 10.00 : 10.00| Total VP: -30.00 Rank:
EW: (530)0 EW: (BiC) 0 IMP:| 0 ;0 10
—
# 11 & AKT864 A Mean: 5CE-3 150 3.0 1 [[|# 12 a 86 A Mean: T7HW-2 100 50 1
v 98 A 40  4HW-2 100 20 1 v QJ86 A 110  BHW-2 100 50 2
¢ 92 Dif: 0 NS:0 3NW-2 100 20 1 *6 Dif: 0 NS:0 6HW-1 50 40 4
& Q73 IMP: 0 EW:0 A 00 2 & QJT943 IMP: 0 EW:0 A 00 2
s Q5 s J93 4HW-1 50 00 1 ||as AKQT9 a5 3DXS-5  -1400 -15.0 1
v AKQJ6 v 74 3NW-1 50 0.0 2 || K743 I v AT52
¢ QJ63 * K5 2SN-1 50 30 1(|e9 ¢ AKT74
& JT » A86542 2SN-2 100 -40 1 K8 a A72
BOVAN 472 % ¢V ABN 4 J7432
N ~~~1~ ¢T532 N ~~~~~ v9
S ~~~1~ ¢AT874 S ~~~~~ ¢ QJ8532
E 2~2~1 aK9 E ~~5~6 6
W 2 ~2~1 ~~5~5
# 13 » J76 A Mean: 4sw4 620 1.0 5 ||# 14 » T987 A Mean: 4HW-2 100 60 1
' 2 A 650 A 00 2 v AK3 A 130 4SE-1 50 50 3
Dif: 0 NS:0 4SE5 650 00 2 * K Dif: 0 NS:0 4HW-1 50 50 1
.|. QJ86532 IMP: 0 EW:0 5CXN-3  -800 -40 1 & K5432 IMP: 0 EW:0 A 00 2
& AK954 & QT82 a & AKQJ543 4SE4 420 7.0 2
v 83 v QT76 v QJT9875 v 6 5CXN-3  -500 9.0 1
+ KQ5 + * A762 * AJ652 ¢ 73
& AT7 a9 a7 » A96
o ¢VAN o oVAN 4,62
N2~~~~vAKJ954 N 2~~~~ 942
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 A Mean: 3SN-1 4100 50 1 ||# 16 o J974 A Mean: 3NE-1 100 9.0 2
v A -280 2SN 100 50 1 v 96 A -270 2CS2 90 80 1
+ KQ6 Dif: 0 NS:0 4SN-2 200 20 1 ¢ AQT32 Dif: 0 NS:0 2Sw2 110 4.0 1
& QT3 IMP: 0 EW:0 3SN-2 200 20 2 » 98 IMP: 0 EW:0 A 00 2
& A652 » 98 3HS-2 200 20 1 ||s KQ83 # T652 3NE3 600 -80 4
v 4 v A98762 A 00 2 ||v QJ8 — v AKT
o AJT ¢ 95 4SXN-2 500 6.0 1 ||e 865 * KJ9
& AK954 » J76 4SXN-3 800 -11.0 1 ||& 753 » AQT
FOVAN , o O4¢VABN LA
N ~2~1~ «KQJT53 N 1~~~ ~ ¢ 75432
S ~2~1~ ¢87432 S 1~~~~ o74
E 2~~~1 a82 E ~~~22 &KJ642
W 3~~~ ~ ~~~21
# 17 & 98652 A Mean: 4HW-1 50 9.0 1 ||# 18 a7 A Mean: 3HN4 170 50 2
v AQ5 A -340 2HW3 140 50 1 v AKQJ9 A o0 4Cs4 130 40 1
* 82 Dif: 0 NS:0 A 00 2 ¢ 9754 Dif: 0 NS:0 4SXE-1 100 30 1
& KQ5 IMP: 0 EW:0 4HW4 420 -20 5 & AK4 IMP: 0 EW:0 A 00 2
a7 a AT43 4HXW4 590 -6.0 1 ||a K52 a QJT963 4HN-1 100 -3.0 2
v KJ8732 v T96 v 5432 | v38 3SE3 140 40 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 4HN-2 -200 -5.0 1
& AJ94 » 62 » 82 » QJ5
P ¢ VBN o, KQJ oo VAN 4, A8
N ~~~1~ 94 N 4~3~2 ¢T76
S ~~~1~ ¢JT743 S 4~3~2 463
E ~~4~1 aT873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 o AKT84 A Mean: 3NN4 430 7.0 1 ||# 20 & AJT853 A Mean: 4HE-3 300 80 1
v AKJ A 130  3NN3 400 70 1 v T A -50  3NW-1 100 40 1
+ Q954 Dif: 0 NS:0 2DN6 170 1.0 1 ¢ T7 Dif: 0 NS:0 2SN2 110 40 2
%6 IMP: 0 EW:0 A 00 2 » KJ84 IMP: 0 EW:0 A 00 3
& Q96532 s J7 3Ccs4 130 0.0 2 ||a KQ72 a9 3DW3 410 20 1
v Q9 v 87642 3SN-1 -50 5.0 1 v KJ3 _I_ v Q9872 2NW2 120 2.0 1
¢ J2 * KT7 3NN-1 50 -50 1 ||e K8654 * A93 4HXE4 790 120 1
® QJ3 a A92 3SN-2 100 60 1 || » 9765
FOVAN , o ¢VABN 4,64
N 44~~3 9T53 N 2 ~~2~ v A654
S 34 ~~2 ¢A863 S 2~~2~ ¢QJ2
E ~~~~~ & KT8754 E ~34~1 &QT32
W~ ~ ~ ~ ~ ~34~1




